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Skill: Subtraction o 2g

Show vour work on another

sheet. Write your answers Total Problems 50

here.
m@ﬂ@mg Correct

4. 40 ~ "2 = 9 7 _ "4 =

3, 76 - 8 = 4.8-79= 6.6 -9 =
9, 4B~ § = 8 "5 - "B = 40. 32 - 40 =
84, ~7 - 10 = 42, 10 - “44 = 44, 40 - "3 =
45, "0 - & = 96, "5 - 75 = 48, 20 -~ "6 =

' )

99, "6 ~ 3 = 20, 8 - 3 = 24,30 - 7B = 29, “44 - § =
23, 46 - "4 = 24,20 - 30 = 2B 4D - 4 = 26. 45 - B =
97, “15 = 7 = 28, 21 - ~4 = 29, 20 - "5 = 30, "3 -~ 8 =
34, 9 - 3 = %9, 44 - 73 = 33, "8 - "8 24, 15 - 5 =
35, "3 - "3 = 2. "5 - b = 37,25 - "5 = 28, 18 - "4 =
20, 60 -~ TH = - 45, 42 - 15 = 44, 18 - "3 = 42, 71 -~ 40 =
43, 83 — 24 = 44, 35 - "5 = 45, 46, 35 - 48 =
47, ‘12 — T42 = A8, 25 .. 40 = Prociice hard., Youll wik.

)
49, "0 - 5 = B0, "928 - 30 = "\i 7?*
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